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Chemistry 11
SOLUTION CHEMISTRY + STOICHIOMETRY
CALCULATING THE CONCENTRATION OF IONS IN SOLUTIONS

Recall: , ’
1. STOICHIOMETRY:- all stoich problems require a %{'\L«A\\B@ﬁb EEN

last lesson we learned how to write out DISSOCIATION/IONIZATION equations.
2, MOLARITY => Mol [i

wheré M= et [ L= I’V‘~’2/M mol= i\ / S
3. Dilution =>

M x Vi=Mg x Vg
where M, = i heal © ) Me= Qunal_ 1)
Vi = wahal VO\umLQL«\ VE = bolmdl Vaumasl |_>

Example 1. What is the molar concentration of the chloride ion in
0.25 M AICI; ?
Step 1. Write out the balanced equation
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Step 2. Use the balanced equation to get your mole bridge and solve:
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Example 2.What is the molar concentration of each ion that is made by
mixing 50.0 mL of 0.500 M AICl; with 75.0 mL of 0.200 M NiF; ?

Step 1. Write out the individual balanced equations:

AlCly — AL 2 3l N, — NM o+ 2F

Step 2. Use the dilution formula’ to calculate the dlluted concentrations
for each compound:

¥ ~ D-Sow < C.O300w o 0.2 00 x 0.0050¢
[A\C\{X @A — = 0.200M [M’\\,L’BF - 0.5 L
| = O.120M

Step 3. Use the balanced equations to get your mole bridge and solve for
the individual ion concentrations:
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Example 3.What is the molar concentration of each ion that is made by
mixing 50.0 mL of 0.240 M AIBr; with 25.0 mL of 0.300 M CaBr; ?

Step 1. Write out the individual balanced equations:
\ & L4 -

AlBe, —> AP + 36 ColBr, — G+ 26

Step 2. Use the dilution formula to calculate the diluted concentrations

for each compound: -
- O . THO 4 ¥ DOSTO L g = ©.boow X 0.895P-

[P\\%f \F 65 070 L = 0.0 WA [Cﬁ lei,.' 0.0 130 -
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Step 3. Use the balanced equations to get your mole bridge and solve for
the individual ion concentrations:
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Step 4:Because both compounds have a common ion ADD_ the two
concentrations together to determine it’s Final concentration.




